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1 | MTEe | =5 ﬁwﬁlm M‘%é 6 [E 9 4 | REE & E E B | EEER
{TB& PEBATE | BRAERC | TRIED | REE | REE | REHE | BCT | =mE | R | il = (FH |H=C/G
B | FERT] FrAl R | P | PHE | PE gz A=1+2 C=A+B| % |E=C+D SFH) | (%)
ISR 6,030 7,982 6,546 5,505 1,793| 3,104 2,910| 1,765| 3,040| 38,675| 1,351| 40,026 4| 40,030 18,718| 58,748| 68.13
AT 193 150 234 80 169 51 28 73 23 24 832 29 861 0 861 368 1,229 70.06
AT 194 78 124 89 85 25 61 52 16 31 561 31 592 0 592 409| 1,001 59.14
BEZNEES 126 274 165 173 35 104 97 28 43 1,045 42( 1,087 0l 1,087 454 1,541| 70.54
FaZ 196 95 326 180 229 43 57 63 39 44| 1,076 25| 1,101 0 1,101 515| 1,616 68.13
PaZER 197 114 285 191 246 47 73 58 37 31| 1,082 36| 1,118 0l 1,118 522| 1,640 68.17
LIHR 198 99 146 140 170 35 21 95 28 44 778 27 805 0 805 207] 1,012 79.55
AR [99 72 165 57 175 41 45 93 41 39 728 18 746 0 746 313 1,059 70.44
1EERT [100 115 151 117 257 24 67 99 78 43 951 19 970 0 970 525 1,495 64.88
BROSAT 1101 164 394 115 211 47 67 77 33 129| 1,237 36[ 1,273 0f 1,273 526 1,799 70.76
JH# R 1102 124 204 209 128 30 103 62 64 68 992 26| 1,018 0l 1,018 370| 1,388 73.34
SR 1103 110 257 144 240 164 160 44 70 36| 1,225 40 1,265 0l 1,265 427 1,692 74.76
AT 1104 145 119 54 110 28 77 43 14 24 614 27 641 0 641 269 910| 70.44
SEAIART (105 95 126 42 97 18 110 13 41 25 567 18 585 0 585 205 790 74.05
7 Eff [106 82 55 95 70 105 53 13 638 40 581 16 597 0 597 223 820 72.80
SR (107 171 298 144 129 44 43 99 45 191) 1,164 28 1,192 0f 1,192 513 1,705[ 69.91
2R 108 36 48 46 27 4 10 24 8 54 257 7 264 0 264 111 375| 70.40
—HEfF (109 75 215 151 102 24 99 88 98 42 894 42 936 1 937 302| 1,239 75.54
FRELRF 1110 47 115 54 38 21 53 23 5 42 398 16 414 0 414 105 519| 79.77
$EACFT (111 76 168 101 97 41 32 179 19 44 757 27 784 0 784 238 1,022 76.71
b3 (112 85 154 170 69 24 106 73 40 200 921 26 947 0 947 468| 1,415 66.93
b3 (113 78 202 150 79 32 69 92 40 114 856 30 886 0 886 596 1,482 59.78
Jdb3ff (114 57 638 69 48 11 32 44 20 91 440 13 453 1 454 259 713 63.53
dE=FA (115 57 149 99 117 24 34 76 36 117 709 24 733 0 733 556| 1,289 56.87
YGERf 1116 135 168 189 97 22 59 36 14 57 777 29 806 0 806 344| 1,150 70.09
YX?@H 117 89 181 165 82 35 33 46 29 21 681 32 713 0 713 393| 1,106 64.47
1E&ERT (118 125 176 134 67 20 56 36 30 124 768 28 796 0 796 539 1,335[ 59.63
TESERT 1119 113 226 183 84 33 61 85 39 88 912 29 941 0 941 572 1,513 62.19
;%é‘?éﬁ 120 95 232 312 81 43 51 67 43 79( 1,003 45| 1,048 0 1,048 571 1,619 64.73
TESERT 1121 121 156 243 174 22 84 64 26 105 995 25 1,020 0l 1,020 588| 1,608 63.43
j(ﬂl—ﬂh‘ 122 122 105 155 46 24 30 72 19 29 602 33 635 1 636 354 990| 64.14
RIFER {123 225 172 131 98 31 38 51 24 30 800 36 836 0 836 446 1,282 65.21
FMAT (124 183 196 152 156 48 135 104 54 77( 1,105 39( 1,144 0f 1,144 412| 1,556 73.52
FMAT [125 130 100 152 60 25 80 44 17 33 641 20 661 0 661 257 918 72.00
PALLIR 1126 97 226 135 118 41 83 117 61 100 978 30{ 1,008 0 1,008 652 1,660{ 60.72
L hRf (127 157 246 241 187 59 92 59 75 50 1,166 41| 1,207 0[ 1,207 587 1,794 67.28
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B FAf (128 120 158 190 127 31 42 37 34 119 858 40 898 0 898 363| 1,261 71.21
HEAF (129 110 145 199 91 42 35 69 46 51 788 36 824 0 824 555 1,379 59.75
g HLRT (130 196 117 150 122 23 94 88 41 70 901 29 930 0 930 423| 1,353| 68.74
LR (131 184 131 150 120 51 74 102 36 114 962 36 998 1 999 502 1,501 66.49
TEELR 1132 262 264 217 158 79 71 63 88 104| 1,306 56| 1,362 0] 1,362 554| 1,916 71.09
SCFERT 133 264 195 97 135 31 76 42 43 41 924 35 959 0 959 340| 1,299 73.83
SCFERT 134 78 179 93 74 26 63 40 11 59 623 25 648 0 648 374| 1,022 63.41
LA (135 461 74 202 75 59 178 19 27 29| 1,124 38| 1,162 0 1,162 414 1,576 73.73
LAy 136 437 141 172 131 79 116 49 53 45| 1,223 37({ 1,260 0 1,260 643 1,903 66.21
gt (137 75 117 222 156 51 49 40 64 99 873 29 902 0 902 354 1,256 71.82
AR 459 946 460 616 4,491| 4,607 241 7,200 181) 19,201 772(19,973 1119,974| 6,391| 26,365| 75.76
= AR [138 15 55 22 22 170 198 7 282 7 778 20 798 1 799 256| 1,055 75.64
=R (139 10 58 7 27 166 247 9 283 6 813 30 843 0 843 218| 1,061 79.45
=21 (140 5 38 9 10 117 71 11 213 8 482 28 510 0 510 201 711) 71.73
=igRf 1141 11 36 12 27 137 118 1 170 5 517 39 556 0 556 247 803 69.24
KRR (142 3 21 13 22 88 120 5 199 5 476 27 503 0 503 175 678 74.19
RS (143 12 30 22 15 105 102 6 228 8 528 27 555 0 555 181 736 75.41
1EERT 144 7 39 15 13 78 105 5 216 4 482 27 509 0 509 211 720| 70.69
TR 145 7 34 36 16 103 121 4 231 6 558 31 589 0 589 232 821 71.74
HERA 146 12 45 26 35 264 228 11 328 6 955 42 997 0 997 271) 1,268 78.63
A 1147 8 13 12 23 95 126 17 223 7 524 27 551 0 551 186 737 74.76
hEAT (148 9 20 24 12 148 134 11 204 5 567 20 587 0 587 194 781 75.16
KBRS (149 1 36 9 8 263 65 4 86 2 474 18 492 0 492 157 649 75.81
KNS (150 15 35 18 15 305 113 5 125 3 634 17 651 0 651 247 898 72.49
PEERT 1151 3 40 8 31 169 138 3 209 4 605 22 627 0 627 252 879| 71.33
R 1152 10 11 10 8 68 120 19 168 15 429 15 444 0 444 90 534| 83.15
FA s Af (153 4 8 6 26 80 309 6 197 3 639 20 659 0 659 243 902| 73.06
dbsaks [154 1 6 S 7 84 151 4 69 1 328 11 339 0 339 133 472| 71.82
it 155 10 16 12 7 53 109 2 155 4 368 10 378 0 378 93 471| 80.25
AJEfT 156 23 21 7 33 69 221 8 201 2 585 21 606 0 606 211 817 74.17
HJER 157 11 23 5 16 124 149 7 277 4 616 24 640 0 640 183 823| 77.76
HERf 158 8 43 7 35 82 194 6 223 2 600 16 616 0 616 190 806| 76.43
HERS (159 13 22 9 23 99 75 8 320 2 571 27 598 0 598 131 729| 82.03
20k (160 32 43 22 16 283 245 11 374 7] 1,033 30{ 1,063 0 1,063 228 1,291 82.34
SR (161 11 33 10 15 169 223 12 248 9 730 24 754 0 754 179 933 80.81
RS (162 42 22 12 28 177 133 15 358 4 791 37 828 0 828 17/8] 1,006] 82.31
=[S [163 114 73 48 38 207 135 21 342 22| 1,000 30{ 1,030 0 1,030 294 1,324 77.79
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Bl | RERT) ARl K& | PE | PHE | TE T A=1+2 C=A+B| # |E=C+D Z28) | (%)
Z7A0AT (164 19 23 5 41]  148] 139 4] 304 10[ 693 26] 719 o 719] 268] 987] 72.85
B K [165 6 39 16 20]  255] 135 5[ 290 7 773 38| 811 0 811] 284] 1,095] 74.06
F AT (166 16 37 47 5/ 160[ 118 8 304 3] 698 26] 724 0 724] 283 1,007] 71.90
BT [167 15 13 2 17 92 89 o[ 151 3[ 382 18] 400 0 400] 147] 547] 73.13
FEAIFS [168 6 13 4 5/ 133 176 6] 222 7] 572 24] 596 0] 596] 228] 824] 72.33




